AIR FORCE X GROUP
MODEL TEST PAPER

Time: 60 minutes

M.M.: 70

INSTRUCTION: Read questions carefully. Each question contains 1 mark and (0.33) mark will be deducted for each

wrong answer.

DIRECTION (1-5): Pick out the most effective word from
the given words to fill in the blank to make the sentence
meaningfully complete.
1. Wehada..... of warm weather in February.
(a) time (b) spell
(c) length (d) phase
2. Physically we are now all neighbors, but psychologically.
we are ...... to each other.
(@) primitives (b) complimentary
(c) strangers (d) cowards
3. When their examinations are over, the children gleefully
...... the books they had been reading.
(a) shelve (b) sidetrack
(c) overthrew (d) abandon
4. Chintuis ...... small to start playing cricket now.

(@) very (b) much
(c) too (d) more
5. The thief ...... all the money.
(@) made up (b) made off with

(c) made do with (d) made good
DIRECTION (6-8): Each sentence below consists a word or a
phrase which is in capital letter. It is followed by four words
or phrases. Select the word or the pharse which is close to the
OPPOSITE in meaning of the capital letter word or phrase.

6. He is well known for coming up with IMPRACTICABLE

solutions.
(a) easy (b) possible
(c) feasible (d) alternate

7. The managing director remarked that the secretary was
an ASSET to the company.
(@) loss (b) liability
(c) drag (d) handicap
8. You can hardly find any trace of HUMILITY in the man.
(@) pride (b) insolence
(c) arrogance (d) conceit
DIRECTION (9-11): In each of the sentences given below a
word is IN CAPITAL LETTER. Below it four choices are
given. Pick up the one which is most nearly the same in
meaning as the word given in CAPITAL LETTER and can
replace it without altering the meaning of the sentence.
9. The thief OUTWITTED the constable on some pretext
and disappeared on the way to the police station.
(a) defeated (b) be fooled
(c) cheated (d) outmanoeuvred
10. Silence is MANDATORY for meditation to be effective.
(a) compulsory (b) necessary
(c) required (d) needed
11. We should always try to maintain and promote communal
AMITY.
(a) bondage (b) contention
(c) friendship (d) understanding
DIRECTION (12-13): In questions given below out of four
alternatives, choose the one which can be substituted for the
given word/sentence.

12. A person who does not want to see the realities of life and
tries to escape.
(a) escapist (b) hovel
(c) plunderer (d) scavenger
13. A person who is very selective, disgusted easily, and is
hard to please.
(a) misanthrope
(c) selector (d) ambiguous
DIRECTION (14-15): Some proverbs/idioms are given
below together with their meanings. Choose the correct
meaning of proverb/idiom.
14. To leave someone in the lurch
(a) To come to compromise with someone
(b) Constant source of annoyance to someone
(c) To put someone at ease
(d) To desert someone in his difficulties
15. To Play second fiddle
(a) To be happy, cheerful and healthy
(b) To reduce importance of one's senior
(c) To support the role and view of another person
(d) To do back seat driving
DIRECTION (16-18): Find the correctly spelt word.

(b) fastidious

16. (a) Adulation (b) Adlation
(c) Aduletion (d) Addulation
17. (a) Adulterate (b) Adeldurate

(c) Adulterat (d) Adultarate
18. (a) Adventitious (b) Adventitous
(c) Adventitus (d) Adventituous
DIRECTION (19-20): In the questions below the sentences
have been given in Active/Passive voice. From the given
alternatives, choose the one which best expresses the given
sentence in Passive/Active voice.
19. Who is creating this mess?
(a) Who has been created this mess?
(b) By whom has this mess been created?
(c) By whom this mess is being created?
(d) By whom is this mess being created?
20. They greet me cheerfully every morning.
(a) Every morning | was greeted cheerfully.
(b) I am greeted cheerfully by them every morning.
(c) I am being greeted cheerfully by them every morning.
(d) Cheerful greeting is done by them every morning to
me.

21. Teh Udel el dTeleh PIeT P AT R TAT 30 WX
3TARA 1 37T 3TAA Q T P &b theg W IW AT
ITAT | TMelT 1A & hegg T R/2 g W eg P W

Hegd [EHTT @191/ Radius of a thin spherical conductor R
and R is the charge g on it. Other charge Q is placed at the
center of the cell. Electricity will be at point P at the
distance R / 2 from the center of the spherical cell
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22.

23.

24.

25.

26.

Mg+ 2
(&) e, R
20
(B) 4me R
‘)O Zq
© 4ngyR ~ 4megyR
20 g
(D) 4me R * 4ngR
(@) A (b) B
©C (d)D

o 3TSTT &Tel Teh & & dhegs UX Ueh (GGl 3TN g I
AT & | 38 Befehl 3 A Teh Hefeh W degd HBTATE

(electric flux) aT AT @raT/

a has an electric charge q at the center of a cube with arm.
One of its panels will be the value of electrical flux on the
panel

(a) /60 (b) q/€0 a®

(c) q/4me0 a? (d) q/€0

Which of the following is equivalent to vector OC ?

fAFaEmEd § ¥ Pl dFeT 0C F TR &
c

o) A
(a) OA + AB
(b) AB
(c) OA+ AB + BC + CO
(d) None of these / 331 & IS &I
Jss derd & EATT & /Dimensions of Surface tension:
(a) ML1T2 (b) MLT2
(c) ML1T-1 (d) MT—2
(ERE T O ciieT ool (o] R &1 y-feem 3
gRomsY o @1 & T AFadsd ifaRad 3maas ao

T TREATOT 81911/ Three forces are employed on the object

according to the picture. For the resulting force in the y-
direction, the minimum required force will be magnitude

4N

. 2N
@) I, N (b) V3N
(c) 05N (d) 1.5 N

 9ifae TRAT PiF-AY & THaThr AT T T8 &/

What are the physical quantities whose insurance is not
equal to

1 1
(a) dTel TAT (u0£0) 2 / Move and (u0£0) 2
(b) wfderer IUT 9T YIEUAT/Promote and Young
elongation

(C) A IUT TATeh Te¥cIieh/Momentum and Planck
determinants

27.

28.

29.

30.

31.

32.

(d) arer 3TEUT JAT BRI/ Thrust and work
1 e ST arel T Ml Areteh 1 a1iar & (s

)/ The capacitance of a spinach driver with 1 meter

radius (in Farad)
(@) 1.1x 10 (b) 10-6
(c)9x10° (d) 10°

TS & Tl ForF TR 3L q” &, 38 &Y FATeR Toret
o A L ofedTs &l 3T I EETTER Feehrl I ¢ |
YU &l HTeIcTehTel T, &1 STd HAT=cR Telel &Y
ARG TR fear ST At 3adeprer T &l ST &1

T/To Ut EI9T1/ A subtle sphere on which the charge '’

is hung between two parallel plates in the form of a L-
length lanyard. Periodontum of pendulum is TO. When
parallel plates are charged, the rotator becomes T. T/ TO

ratio will be
(b) (

o ()
( o T P
g none of these
V,darv, q|c»c<d-||cua~?ru«—u< Hofrepar & ST de
TSl 8 FATedR H SIS 37 8| atecaex Vy, 80 dlec
UG &l & AT 38! fdatee ufaia 200 0 ¥ afg
V, T el ITeRIY 32 kQ &1 af ofge dleest &/ V1 and

V2 voltmeters have been added from parallel to the dc
line by adding them into intermediate sequences.
Voltmeter V1 gives 80 Volt lessons and its resistance is

200 o<c. If the total resistance of V2 is 32 kQ then the line

o

b=
([

gE
o,
m

voltage is
(a) 120 @ree/ Volt  (b) 160 aTee/ Volt
(c) 220 dtee/ Volt  (d) 240 aree/ Volt

[ERET JITARIC 0T &I THAR YFIHIY &1 A Jeciiey g
T sl Frsar HaTeuTe ©/ The curvature radius of the

circular path is proportional to the precursor of a charged
particle in the magnetic field.

(a) TOT UX 3ATAL &/ Charge on particle

(b) T &b FAIT B/ Moment of particle

(c) TUT T FlT &/ Power of particle

(d) &Y T ArardT b/ Area intensity

Teh el 3R Teh Sogreld 6l Soll Gl E &/ The

energy of a photon and an electron is equal to E |

Aepveta Asaraerey THATTATCY B1ITT
(@ VE® (b) INE
(c) UE& (d) E W TR A€ X

%°C, & e Ul ¥ YR el W 15 BHeTe 3 5Hh
37U el T 7/8 3191 Zn A &1RA &Y ST & cFeg&ur

3-T‘iﬁ€°r &/In the 15 minutes, starting with the correct

sampling of 66Cu, 7/8 of its own root is consumed in Zn,
according to the parallel half

() 5HAS/MIN  (b) 15 BReE/MIN
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33.

34.

35.

36.

37.

(c) 10 FETE/MIN  (d) 7% BFTe/MIN

TP URR FREY h 518 6 R & OIS SIar & a7 Jg t
@zﬁugﬁc[uﬁaawug’am%lﬂmﬁ?mﬁaw
(Teh FEATER S T 3T TAT GE ST e hr 3HR)
HATT AT u H b ST TAT 3eTeh G@RT Gl T Tgad

3 o9 HI AL t, T t, B, T/ One stone is left on the

height of any h height and it reaches the Earth's surface in
t seconds. Two stones (one vertical upward and one on the
other vertical bottom) from the same tower should be
thrown from the same velocity and by the time the time
spent in reaching the Earth is t1 and t2, then

@t=t; -t (b) t=" + tof,

(C) t= \/tltz (d) t= t12t22

Th 0T IR 3TAR q & | TE fATd, ToTwU a1 REw

SFaad & E 3R B FA v A et &t (B3R B) &
TG THTE BT &, a7 fa me uRad= & 38T
gR&ToT a7 feem F v der & T giar 1 d9/ Q is the

charge on a particle. It is entered in the fixed, identical
and intertwined areas E and B velocity velocity between
the two regions (E and B), and velocity velocity in the
same magnitude or direction without any change. Then
(@) v=E x B/B? (b) v=B x E/B?
(c)v=E x B/E? (d)v=Bx E/E2

T 3¢ TP AT Fail E &, ST @ 45° T thehy
STl &1 ST 33T o GRTel STercd fdeg W aTferst Sl

g19ft/ A ball whose kinetic energy is E is thrown
horizontally at 45 °. During its flight there will be kinetic
energy at the highest point

(@ E (b) [T/0

(c) E/2 (d) EA2

(EATTER Teh fdeg P €2l & Tofel &hi [Eodic feem &
ool Y QX 9T AT &1 P2 & 9T $H YR & 6
TAFATS (s = 8+ 5) AT &, STl S e H JUT t hvs
T g fr B=ar 20 m ¥ 3= t = 25 X P T 0T

SITHIT &/ According to the picture, a point P moves on
the circular path in the opposite direction of the clock
movement. The speed of 'P' is such that the fixed length (s
=13+ 5) is, where S is in the meter and in t seconds. The
radius of the path is 20m. The acceleration of P is almost
at intervals = 2s

" 20m

o A X
(a) 14 m/s? (b) 13 m/s?
(c) 12 m/s? (d) 7.2 m/s?

T TR 0 & T TEaT urelt & 91Y U aTed! M0
T3 & T U6 3 Uk O &1 30 ¢ 8 TTell o dgal hr
& R, &1 If¢ moe 3w 3R A T T ca)ord
Toled 19T 3R ad urel & agat P &2 el R, 3R Ry@,

aY/ In a steady lift, a man is standing for a bucket full of
water, which has a hole in the bow. The rate of flowing

38.

39.

40.

41.

42.

43.

44,

water from this hole is RO. If the lift starts moving up and
down with a similar acceleration and then the rate of
flowing water is Ru and Rd, respectively

(@) Rg>Ry >Ry (b) Ry > Ro >Ry

(©)Ri>Ro>R, (d) R, > Ry > R,sub>0

ITE FYEIel T GeATT 1.6747x107" ERaITo B Y Sefehl

amu T & —/ If the mass of the neutrons is 1.6747 x 10-

27 kg, then their amu value is —
(a) 1.00728 (b) 1062
(c) 0.00055 (d) 1.00867

SR 3 Ffe ITAH Ud T Hmral # Hemrat
ol HET ShAA: N, TUT N, & o 3=l (Stepdown)
TP & 1T it T HEY @191 2/ In Transformers,

if the number of coils in the primary and second
horoscopes are respectively Np and Ns, who would be
right for Stepdown Transformers?

(@) Np > N; (b) Np < N

(¢) Np = Ns (d) Np<N;

=1, sinot H IO%—

(a) [T Gr/ Zero stream

(b) HASCTH YUIRT ATATH/ The maximum section
dimension

(c) FAdH 3HTATA/ Minimum dimensions

(d) 3uRiera |/ All of the above

Speed of sound in dry air /[5eh a1y 3 CfeY &Y =TT & 2

(a) 1,80,000 ERaTT/AHUS (b) 6400 ER3TT/AFHUS

(c) 764 FHr/AHUs (d) 332 F/AwUE

0.80Q UTeRTY & TafIe & SR 1.0A Teh &I &RT AT ST

Tehell &, QT T UTARN Ehcl=T 21T T1fRT a1 Taex

GaRT 5.0A Teh hl URT AT ST Heb ?/ The resistance of

the 0.80 pm resistance can be measured by up to 1.0A,
what should be the resistance of the shunt so that the
volume up to 5.0A can be measured by the ammeter?
(@) 0.1Q (b) 0.2Q

(c) 0.4Q (d) 0.6Q

Rh-thereX & WraTehdT hiT & 2/ Who s the researcher of
the Rh-factor?

(a) oI5 T/ Lad steiner

(b) R=1$ SRR/ Ridge Jenner

(c) T[T Azel/ Gundy Mendel

(d) TelFaiesX Tl T/ Alexander Fleming

TNl T&eleh UX AT Teh ShT ST 37U el thel STt
P AT I @ &I &, df —/ A girl spinning on a round

moon, when she is standing with her hands spread
together, then —

(a) ST STSca T T SR Its inertia will
increase in horizon

(b) 3T IV 9T T AN/ Its angular velocity will
decrease

(c) 3T PIUT 9T g SATAN/ Its angular velocity will
increase

(d) 313 & PIS A1/ None of these
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45. Teh Solergiel AB Y@ & e fer a1l el &, 36T AB
HUSC o & HaHA A &, SIET 06 [ 3 @ = |
e 3 A Ui ORT Seaee et ¥, a swer R
grafty
An electron lets the trajectory of the AB line, the line AB

is in the plane of the horoscope, as shown in the picture. If
induced current is produced in the horoscope, then its

direction will be

A ) ) B
(a) DS URT AR el @197/ No stream will be inspired
(b) URT arATA BN/ current clause
(c) URTgEIuTad 9f/ will be clockwise

(d) Folerelel & ISR WX URT T f&AT el STwaf/ The
direction of current will change when the electron
passes

46. Suppose there is a relation * between the positive

numbers x and y given by x = y if and only if

x < y2. Then which one of the following is correct?
(A Ao & emrone d&=amEell x 3R y & d| Ud
g * 59 UK &A1 1 @ & x + y, % 3R @aa
Ffex < y? &) ot Frefafeg 4 @ slb—w v gl
a7

(@) * is reflexive but not transitive and symmetric / *
WY ¢ dfed dome s wafya d

(b) * is transitive but not reflexive and symmetric / *
HAHpma © odfeT w@ged o wafya 78

(c) * is symmetric and reflexive but not transitive / *
i ok Waged @ dfed dpms TE
(d) * is symmetric but not reflexive and transitive /*
wafia @ dfe wge ik dsre T2l

47. If x> — px + 4 > 0 for all real values of x, then
which one of the following is correct? /afs x & &+
ardfad a it @ fag x2 —px +4 > 02, at
frfafaa & @ sa—a1 e ad 27?7

@) Ipl <4 (0) Ip| < 4
© Ipl >4 @) Ipl = 4
2
48. What is the range of the function y = —— where
xeR? | el y = 11; BT O T @ oiet xeR 22
@ [0, 1) (b) [0, 1]
(© (0, 1) (d) 0, 1]

49. A straight line intersects x and y axes at P and Q
respectively. If (3, 5) is the middle point of PQ, then
what is the area of the triangle OPQ? /v& &Rel &
x IR y &l B HaE: P R Q R ufa=ss ol 2
afg (3,5), PQ &1 wea—fdg 2, at fgsr OPQ &t
SABd T 27
(a) 12 square units/ 12 97f &1
(b) 15 square units/ 15 a7 s&13
(c) 20 square units/ 20 a¥f g&Tg

(d) 30 square units/ 30 T s®HIE

50. If a circle of radius b units with centre at (0, b)
touches the liney = x — V2, then what is the value
of b? [afe b rar g&1E 3R 5 (0,b) &1 T o,

@1 y = x — /2 Bt Wl sxar &, at b &1 4 FAT
272

)2 ++2
(c) 2v2

(b) 2 -2
(d)v2

For the next two (2) items that follow: / smrdl 31
Consider the curves
3x

f(x)=x|x| -1 and g(x)z{?;x>0 .
2x,x<0
3x
f(x):x|x|—13,ﬁ—\rg(x):{?,x>0q_\r
2x,x <0

HIfTg:
51. Where do the curves intersect?/d a% &8l ufaes8s
X B?
(@) At (2, 3) only/ @ae (2, 3) W=
(b) at (-1, -2) only / ®aa (-1, -2) 4=
(c) At (2,3) and (-1, -2)/@ad (2, 3) iR (-1, -2) =)
(d) Neither at (2, 3) nor at (-1, -2) / = @t (2. 3) W
AR T A (-1, 2) R
52. What is the area bounded by the curves?/sa asl gRT
uReg dA%hd T 27
@) % square units/% T 3PS
(b) g square units /% T gHIE
(c) 2 square units / 2 a7t sP1S
(d) % square unit/ % TIP3
For the next two (02) items that follow: srrat <t
Consider the functions f(x) = x g(x) and g(x) = E]
where [.] is the greatest integer function./ we<1 f(x) =
xg(x) 3k glx) = E] gl Aftrpaw yoifes waq 2, w®
far aifeg |

1 1
53. What is [ g(x) dx equal to? /[ g(x) dx e
3

IRTEY 27 ’
(a) (b) 5
OF (d) =
54. What is [i' £(x) dx equal to? /[i" £ (x) dx fraa
IXEN 27 ’ ’
(a) > (b) 5
(© 2 (d) ==

For the next two (02) items that follow: / 3mt M= arat

ﬁ ESIG ﬁﬂ:

Consider the lines y =3x,y = 6x and y =9 Rt

y=3x,y =6x3R y =9 w fdar afay|

55. What is the area of the triangle formed by these
lines?/z=1 X@man grT fiffa Brys &1 &awa w287
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(@) 24—7 square units/ 24—7 EREEEaE
(b) %square units / 22—7 EREECOES
(©) 14—9 square units / 14—9 Tl 3BIg
(d) 12—95quare units / 12—9 T a8
56. The centroid of the triangle is at which one of the

following points? /sa A &1 d=® fr=fatea
figan o 4 fow w27

(@ (3.6) 0) (.6)

(©) (3.9) @ (3,9)

For the next two items that follow: /amt sm< arad st

geien & fog:

Consider the curves y = |x—1| and |x| =2 / ami

y=|x—1| 3R |x| = 2 & faar «ifog |

57. What is/are the point(s) of intersection of the curves?
571 91 &1/ ufaess g a1 2 /87
(@) (-2, 3) only /@@« (-2, 3)

() (2, 1) only /&3« (2, 1)

(€) (-2,3)and (2, 1) /(-2, 3) ai® (2, 1)

(d) Neither (-2, 3) nor (2, 1) /= @t (-2, 3) 3fik 7 &
(2,1)

58. What is the area of the region bounded by the curves
and x-axis? /37 a®l AR x —34e gRT URdg UL &I
A%d T 287
(@) 3 square units/3 a7t &I
(b) 4 square units /4 a7 @18
(c) 5 square units / 5 a7 sHIS
(d) 6 square units/ 6 a3 @I

For the next two (02) items that follow: /et am= arat =t

sl & fare
3

x° sinx cosx
Consider the function f(x) =6 -1 0 | where
p p* P
x3 sinx cosx
p is a constant. /e f(x) =6 -1 0 |wEip
I

U IR B, R fEr sifay|
59. What is the value of £ (0)? /f (0) @1 w1 @ 22
() p° (b) 3p°
(c) 6p° (d) -6p°
60. What is the value of p for which f"(0) = 0?/p &
g w9 @ fag £(0) = 0 22
(a)—éoro (b)—1o0r0
(c) —%orl (d-1or1
For the next two items that follow: / 3t ama ardt a1
geien @ forg:
Consider the two circles (x — 1)? + (y — 3)? = r2 and
x> +y?—8x+2y+8=0 /@@ g=i (x—1)*+
(y—=3)2=r? sk x?+y?—-8x+2y+8=0 w
far ifsg |
61. What is the distance between the centres of the two
circles? /a1t gl @ =i & 44 @ & «1 37°
(@) 5units/ 5 s®1$  (b) 6 units/ 6 &1
(c) 8 units /8 s®1g (d) 10 units /10 s&1S

62. If the circles intersect at two distinct points, then
which one of the following is correct? /afs g 3t
AT fagat w ufaess #vd &, @ Fafataa
¥ ST e udl 272
@r=1 b)1l<r<?2
c©r=2 d2<r<8

For the next two items that follow: / st s ard 3t

Consider the two lines x + y+1 =0 and 3x + 2y +

l1=0/at R@mei x+y+1=03R 3x+2y+1=0

R faar sifvg |

63. What is the equation of the line passing through the

point of intersection of the given lines and parallel to
x —axis? /41 g Y@l ® ufaees g 9 o arell
IR x —IAF S FATAY IWT DT GHIHIUT T 27
@y+1=0 b)y—1=0
cy—2=0 dy+2=0

64. What is the equation of the line passing through the
point of intersection of intersection of the given lines
and parallel to y-axis? /<1 7% X=nai & ufoe8s 4y
| TORA arell AR y —A" D GHAAR W BT GBI

a7 8?
@x+1=0 b)x—1=0
c)x—2=0 dx+2=0

For For the next two items that follow: /3t am=t ard st
yeIen & forg:
A function f(x) is defined as follows: /t& w1 f(x)
@ wu A gRefya &

x+m for xe [—m,0)

Fx) = mcosx for xe [O,g]

2

(x —g) for xe (g,n]

65. Consider the following statements: /fr=fafRaa et
R faar sifse:
1. The function f(x) is continuous at x = 0. /we
f(x),x = 0w Haa 2|
2. The function f(x) is continuous at x = % | ®er=
f(x),x = %q’\f dad 2 |
Which of the above statements is/are correct?
[Sudad dot 7 @ Bia-—ar/@ wd 2 /2?
(@) 1 Only/®aa 1
(b) 2 Only /&3« 2
(c) both 1and 2 /1 3k 2 =r=F
(d) Neither 1 nor 2/7 @t 1 3k 7 & 2

66. Consider the following statements:/fr=ferRaa et
) faar sifvg:
1. The function f(x) is differentiable at x = 0. /
%o f(x),x = 0 W @I 2|
2. The function f(x) is differentiable at x = %/ Bl

f(x),x=%q‘\r31a—cb—ervﬁ11§‘|
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Which of the above statements is/are correct?/
SWaa woEl § 4 sa-—ar/9 wd /87

(@) 1 Only/®aa 1

(b) 2 Only /@aa 2

(c) both1and 2 /1 silr 2 <r=F

(d) Neither 1 nor 2/7 at 1 3fx 71 & 2

For the next two (03) items that follow: / 3mt sm arat
= g @ forg:

Consider a parallelogram whose vertices are
A(1,2),B(4,y),C(x,6) and D(3,5) taken in order. /v&
iR @gye, fowe O, ot owmw A
A(1,2),B(4,y),C(x,6) sk D(3,5) & w fEr
Y |

67. What is the value of AC% — BD2?/ AC? — BD? &1

e war 87
(@) 25 (b) 30
(c) 36 (d) 40

68. What is the point of intersection of the diagonals?
[fawort &1 ufaess fig @ 372

@ (5.4) (b) (3, 4)
©(3.5) (d) (3,5)

69. What is the area of the parallelogram? /s#iar—agqds
@1 TG FqT 3?

(@) ; square units / % EREEEOE
(b) 4 square units/ 4 Tt gPHIS
(©) 12—1 square units/ 12—1 Tl 5P
(d) 7 square units/ 7 a7 @18

For the next two (02) items that follow: /st M= aret <t
geien & forg:

Let @, b be two unit vectors and 8 be the angle between
them. / w1 ifoig % @, b <1 wr=s afew €, 3k s
= &1 Bl 0 2|

70. What is cos (%) equal to? / cos (%) foas TwEx 3°

@ |a;b| (b) |a-;b|
i-b a+b
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ANSWER KEY

1. | B |26. C |[51.| C
2. | C |27.| A |52. | B
3. | D |28.| D |53. | B
4. | C [29.| D [5%4. | A
5. | B 130. | B | 5. A
6. | C |31. B | 5. | B
/. | B |3 | A |5 | C
8. | C |33. ] C |58 | C
9. | A |34 | A |59 | D
10. | A | 35. | C | 60. | A
11. | C [ 36. | A |61 | A
12. | A |37.| B |62. | D
13. | B |38. | D |63.| D
14. | D |39.| A |64. | B
15. | C |40. | B | 65. | C
16. | A |41. | D |66.| D
17. | A |42. | B |67.| C
18. | A |43. | A |68. | A
19. | D |44. | C |69.| D
20| B |45 | D |[70.| B
2. | D | 46. | A

22. | B | 47. | B

23. | C [ 48. | A

24. | D 149.| D

25. | D |50.] A
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